
 

 

Power Stations 

 

There are five source of energy which together account for nearly all the worlds 

electricity. They are coal, oil and nuclear plants use the steam cycle to turn heat 

into electrical energy, in the following way. The steam power stations used very 

pure water  in a closed cycle. First it is heated in the boilers to produce steam at 

high pressure and high temperature, typically 150 atmospheres and 550C in a 

modern station. This high-pressure steam drives the turbines which in turn drive 

the electric generators, to which they are directly coupled. The maximum amount 

of energy will be transferred from the steam to the turbines only if the latter are 

allowed to exhaust at a very low pressure, ideally a vacuum. this can be achieved 

by condensing the outlet steam into water. The water is then pumped back into the 

boilers and the cycles begin again. At the condensing stage a large quantity of heat 

has to extract from the system. This heat removed in the condenser which is a form 

of heat exchanger. A much larger quantity of cold impure water cold impure water 

enters on side of the condenser and leaves as warm water, having extracted enough 

heat from the exhaust steam to condense it back into water. At no point must the 

two water system mix. At a coastal site the warmed impure water is simply 

returned to the sea at a point a short distance away. A 2GW station needs about 60 

tons of sea water each second. This is no problem on the coast, but inland very few 

sites could supply so much water all the year round. The alternative is to 

recirculate the impure water. Cooling towers are used to cool the impure water so 

that it can be returned to the condensers, the same water being cycle continuously. 

A cooling tower is the familiar concrete structure like a very broad chimney and 

acts in a similar way, in that it induces a natural draught. A large volume of air is 

drawn in round the base and leaves through the open top. The warm, impure water 

is sprayed in to the interior of the tower from a large number of fine jets, and as 

falls it is cooled by the rising air, finally being collected in a pond under the tower. 

The cooling tower is really a second heat exchanger where the heat in the impure 

water id passed to the atmospheric air. 



 ها یروگاهن

هستند. انها عبارت اند از زغال  یادن یسیتهتمام الکتر یپاسخگو یباوجود دارند که همرا با هم تقر یمنبع انرژ پنج

 یبرا یو هسته ا ینفت ی،زغال یها یروگاه. نیهسته ا یو انرژ یدروالکتریکیه یروین یعی،سنگ، نفت،گازطب

خالص  یلیبخار از آب خ یروگاه. نکنند یم ستفادها یربخار به صورت ز یکلاز س یکیالکتر یگرما به انرژ یلتبد

شار بالا و در ف یتا بخار یشودبخار( گرم م یگ)د یلرهاییابتدا آب در بو .کند یچرخه بسته استفاده م یکدر 

بخار فشار بالا  ین. ایدنما یدمدرن تول یروگهن یکگراد در  یدرجه سانت 550اتمسفر و  150بالا ، نوعا  یدما

با آن جفت شده اند. مقدار  یمااندازند که مستق یبکار م ییاندازد که به نوبه خود مولدها یم کاربه  ییها ینتورب

 یکدر  یه( اجازه تخلینها)تورب یکه به دوم یابد یها انتقال م یناز بخار به تورب یفقط در صورت یانرژ یممماکز

به آب حاصل  یبا متراکم کردن بخار خروج یتواندکار م ینخلا داده شود. ا یکآل  یدهکم ، بطور ا یلیفشار خ

مقدار  یدتراکم بامرحله  در. یگرددو چرخه دوباره تکرار م یشودها پمپ م یلرشود. سپس آب دوباره به داخل بو

 ییمبدل گرما یکه نوع یشودگرما در کندانسور )چگالنده( گرفته م ینگرفته بشود. ا یستمگرما ازس یمیعظ

 یشود،طرف کندانسور وارد شده و بصورت آب گرم خارج م یکاز  ناخالصآب سرد  یشتریب یلیاست.مقدار خ

 یچدر ه یآب یستمازآن گرفته است. دو س یکاف یبه آب گرما یچگالش مجدد بخار خروج یکه برا ینضمن ا

به فاصله کم به  یدر نقطه ا یآب ناخالص گرم شده بسادگ یساحل یگاهجا یکمخلوط شوند. در  یدنبا ینقطه ا

 یچ)مسئله( در ساحل ه ینلازم دارد. ا یاتن آب در 60حدود  یهدر هر ثان 2GW یروگاهن یک. میگرددبر یادر

همه آب را در تمام سال  ینا یتوانندم یکم یلیخ یها یگاهز ساحل جاادور  یدر نواح ی، ول یستن یمشکل

. یروندآب ناخالص بکار م یدتبر یاست برا یدتبر یباز گردش آب ناخالص است برج ها یگر. روش دیندنما ینتام

 یه بتنسازه ساز یدبرج تبر یک. یابدگردش  یوستهکه آب به کندانسورها برگشته و همان آب بطور پ یبگونه ا

 یعیکشش طب یکنظر که  ین. از ایکندپهن است و به روش مشابه عمل م یلیدودکش خ یکمشابه با  ییآشنا

 ی.آب گرم ناخالص از تعدادیشودده و از نوک باز آن خارج میکش یههوا از اطراف پا یادی. حجم زیکندم یجادا

 یکدر  تاایسرد شده. نه یصعود یو در ضمن سقوط توسط هوا یشودم یشدهبه داخل برج پا یزجت)فواره(ر

موجود  یاست که درآن گرما یهثانو ییمبدل گرما یکبرج خنک کننده در واقع  یگرددبرج جمع م یرحوض در ز

و در  یابد یاجازه تماس م یالدو س ییمبدل گرما ینبرخلاف اول یول یشود،م یجو هوایدر آب ناخالص وارد 

 .یشودتلف م یرآب به واسطه تبخ یمقدار یجهنت

  


